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26.

27.

Study the following information carefully to answer the given questions(23-27Q)

In a College there are 1200 students who have visited 5 different cities
- Delhi, Kolkata, Varanasi, Mumbai and Jodhpur.

Forty five percent of the total students are boys.

Thirty percent of the total girls visited Mumbai.

Two-fifths of the total girls visited Delhi.

Number of girls who visited Jodhpur is half of the girls visited Delhi.
Two-thirds of the remaining girls visited Kolkata.

Total no of students who visited Mumbai is 300.

Twenty percent of the total boys visited Delhi.

Forty percent of the total boys visited Jodhpur.

Equal no of boys visited Kolkata and Varanasi.

Q. What is the ratio between the total no girls students to total no of boys students?

A. 13:5
B. 9:7
C. 11:9
D. 9:11

Study the following information carefully to answer the given questions(23-27Q)

In a College there are 1200 students who have visited 5 different cities
- Delhi, Kolkata, Varanasi, Mumbai and Jodhpur.

Forty five percent of the total students are boys.

Thirty percent of the total girls visited Mumbai.

Two-fifths of the total girls visited Delhi.

Number of girls who visited Jodhpur is half of the girls visited Delhi.
Two-thirds of the remaining girls visited Kolkata.

Total no of students who visited Mumbai is 300.

Twenty percent of the total boys visited Delhi.

Forty percent of the total boys visited Jodhpur.

Equal no of boys visited Kolkata and Varanasi.

Q. What is the difference between the total no of boys students visited Delhi,
Varanasi to total no of girls students visited Kolkata and Jodhpur ?

A. 78
B. 56
C. 34
D. 11
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